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Answer Section A and one question from Section B.
Section A
1 Translate the following passage into English. Please write your translation on alternate lines.
Nearchos tricks his way into a cily in order fo obtain the provisions he and his men require.

The Greeks continued to sail along the coast inhabited by tribes of Fish-Eaters, from
whom they could obtain nothing but fish to eat. At last they saw a city which had
some cultivable land, which Nearchos thought must produce grain. Leaving Archias
at the ships, he and some of his men approached the gates and asked the

inhabitants if they had any grain.
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Adapted from Arrian, /ndica 28
Names
o Néapyos Nearchos, a Greek admiral
0 'Apyios Archias, one of Nearchos's officers
Words
16 ix00s, tyOos fish
2glom + gen inside
) m»‘Lts, m)/lﬁos' gateway
6 épunveds, epunvéms interpreter
5on,uawa) [aor Eonunval | signal
*racom [here] | order
TémoxéAdw | beach; row towards land
*aios adj unharmed

Section A Total [70]




Section B

Answer either Question 2 or Question 3.

2 Translate the following passage into English. Please write your translation on alternate lines.

A former slave in Xenophon's army heips negotiate a truce with a native army.

Then a light-armed soldier approached Xenophon. He said that he had been a slave
in Athens, and he thought he recognised the people’s language. “In fact’, he said, “I
think this may be my native-land, and if you have no objection | should like to go and
talk to them.” “No objection at all”, Xenophon said. “Talk to them and first of all find
out who they are.” When they told the man that they were Makrones, Xenophon
asked him to find out why they were hostile to the Greeks.
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Adapted from Xenophen, Anabasis 4.8

Names
ot Makpwves the Makrones (tribe)
Words
¢ mora guarantees
Zﬁapﬁapmo's foreign
n /'Loyxn spear
*emuopTOpouan | swear by

[30]
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Do not answer this question if you have already answered Question 3.

3 Translate the following sentences into Classical Greek. Please write on alternate lines.

(a) When Cyrus' was defeated in the battle, the Greeks were very disheartened.
{b) They thought that the king would attack them as quickly as possible.

(c) If they had stayed there, the enemy would have killed them alll.

(d) But Xenophon? persuaded them to take up arms and fight immediately.

(e) The army marched for many days in order to reach the sea.

Names
'Cyrus o Kopos
ZXenophon 0 Zevoddv

[6]
[6]
[e]
[6]
[6] .

Section B Total [30]

Paper Total [100]
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Section A
Question Answer Marks
Number

1 Translate the following passage into English. Please write your

0~ O v h ON

translation on alternate lines.

Nearchos tricks his way into a city in order to obtain the provisions
he and his men require.

The Greeks continued to sail along the coast inhabited by tribes of
Fish-Eaters, from whom they could obtain nothing but fish to eat. At
last they saw a city which had some cultivable land, which Nearchos
thought must produce grain. Leaving Archias at the ships, he and
some of his men approached the gates and asked the inhabitants if
they had any grain.
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0 8¢ Néopyos E¢n tabra uév douévaes Sékeabar,
E0éAev 5¢ Oedoachar v moAv.
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!
odov E0éAovor v molv.
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13 uaddvies 8¢ myv noiv 118n éxouévny kai oyxsdov SedovAmuévny,

14  ©d1e 1) é8éovto TOv Néapyov, 10v pév otrov Ov giyov dndyerv,
11jv 68 moAv un Sroddsipai.

The passage above has been divided into 14 sections, each worth &
marks. Please write the marks awarded for each section in the body of
the script, at the end of the section. Draw a vertical line through the text to
indicate where each section ends. Add up the sectional marks to give a
total out of 70, to be written in the right-hand margin. Ring the fotal.




Section A

Quaestion
Number

Answer

Marks

1 cont’'d

Marks for each section should be awarded as follows:

[3]
[4]

31
[2]
[1]
[0]

Perfectly accurate (as agreed at Standardisation)

One serious error or two minor errors, otherwise the meaning is

conveyed
Most of the meaning conveyed, but several errors

Half the meaning conveyed; the rest seriously flawed

A minority of meaning conveyed

No elements of meaning conveyed; no relation to Greek at all
N.B. Consequential errors should not be penalised.

[70]

Section A Total

[70]1




Section B

Question
Number

Answer

Marks

Translate the following passage into English. Please write your
translation on alternate lines.

A former slave in Xenophon's army helps negotiate a truce with a
native army. '

Then a light-armed soldier approached Xenophon. He said that he
had been a slave in Athens, and he thought he recognised the
people’s language. “In fact”, he said, “l think this may be my native-
land, and if you have no objection | should like to go and talk to
them.” “No objection at all”’, Xenophon said. “Talk to them and first
of all find out who they are.” When they told the man that they were
Makrones, Xenophon asked him to find out why they were hostile to
the Greeks.

1 ol & drskpivavro, "ot buets ém v Nuetépav ydpav Epyeade."
2 Adyaw éxéAsvov oi arpoanyotl 6m ob KaKkds Y& TOUCOVIES, GAAG
BaaiAel moAsunoavres,
3 anépyovrai eis v ‘EAAdSa, xai énl QaAdacoay Bodloviat
apucéobor.
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6 ravte yop egaocav mota givar. Osovs & eneuopTLPAVTO
augoTepor.

The passage above has been divided into 6 sections, each worth 5
marks. Please write the marks awarded for each section in the body of
the script, at the end of the section. Draw a vertical line through the text to
indicate where each section ends. Add up the sectional marks to give a
total out of 30, to be written in the right-hand margin. Ring the total.

Marks for each section should be awarded as follows:
[5] Perfectly accurate (as agreed at Standardisation)

[4] One serious error or two minor errors, otherwise the meaning is
conveyed

[3] Most of the meaning conveyed, but several errors

[2] Half the meaning conveyed; the rest seriously flawed

[1] A minority of meaning conveyed

[0] No elements of meaning conveyed; no relation to Greek at all

N.B. Consequential errors should not be penalised.

[30]




Section B

Question
Number

Answer

Marks

3(a)

3(b)

3(c)

3(d)

3(e)

Translate the following sentences into Greek. Please write on
alternate lines.

When Cyrus was defeated in the battle, the Greeks were very
disheartened.

Tob Kipov év tfj pdyn vikndévros ot "EAAnves paiiota noduovy.

They thought that the king would attack them as quickly as possible.
gvdmony 1oV Pacidéa savtois npocPalely @S TdyioTC.

If they had stayed there, the enemy would have killed them all.
&l éxel Eustvay, ol moAéuiot TAVTAS TOVS CIPATIOTAS ATEKTELVAY GV,

But Xenophon persuaded them to take up arms and fight
immediately.

0 8¢ Esvogav Ensioev adtovs SmAa Aaufave kal e000s payesadau.

The army marched for many days in order to reach the sea.

| 6 oroards énopsddn noAdas nuépas Tva mpos v ddartay ddiorto.

There are many acceptable ways of translating the English sentences into
correct Greek. Below is given one example for each sentence. Acceptable
alternatives will be agreed at Standardisation, but examiners should be
ready to accept other versions that accurately render the meaning into

Greek.

Each sentence is worth 6 marks. Write the mark awarded in the right-
hand margin, then add up these marks to give a total out of 30. Ring the

total.

Marks for each sentence are to be awarded according as follows:

[6] A wholly acceptable, totally correct, version

[5] Minor error[s] only in syntax or accidence

[4] Rather more errors, but a good proportion of sentence correct
[3] Around half the accidence and syntax correct

[2] Accidence and syntax seriously flawed

[11 A very little correct Greek

[0] No correct Greek at all

[6]

[6]

[6]

[6]

[6]

Section B Total

[30]

Paper Total

[100]




Assessment Objectives Grid (no QWC)

Question AO1 AO2 Total

1 35 35 70

2 15 15 30
3(a) 3 3 6
3(b) 3 3 6
3(c) 3 3 6
3(d) 3 3 6
3(e) 3 3 6
3(h 3 3 6

Totals 50 50 100




